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I 23 mwn: blood and flesh of y7w combine for Myw
a  ywir ’7s rule: wherever both nkmv (impact of nkmV) and MYV are the same, they are 9710¥n
i Source: per X1 71’01 "1 — v. 1 RNV > even parts of different 0’1, their 7, even if two mnw (e.g. 2% and T91N)
1 Implied challenge: our mwn only allows for 917% in one rodent; n”2" expands to “universal q11x”
2 Resolution (9o 37): if it came from a partial-rodent, no )y; if from a complete rodent — gy ¥
3 Support: x:3 mynR — if 'y blood of nn was spilled on a slope; if he “draped over” (97°R) some—1nv; all of it - RNV
(a) Explanation: nxpn and 1913 cannot refer to “all/some of the blood”
(i) Proof: per »a1 —if he stirred a 0T Y19, NNV
(b) Rather: they refer to coming from a whole nn or part of a nn
II Tangential nTar: vn 12 ®'nNn 1 asked »”aw1 in Rome — source for 0¥ DT NRNV
a  Answer: v.2—Rnon 0% 1N
b n7ap7 told his students that »”av1 learned this from oy 72 71YoR '3, when the two of them came to Rome:
i Background: Rome had banned religious practice; *»21700R 12 12187 "1 and masqueraded as Roman and convinced them to
repeal decrees in their own self-interest; when he was discovered, decrees reinstated.
1 prwom sent vy and YoV 12 NYOR "7, but only after »”aw7 committed to his safe return; while there, »"av7 was asked
about 087w DT and 8" answered; *"av1 almost harmed him (129 192 1357 ") but restrained himself
2 Then: they were miraculously given their requests in Rome and arranged for annulment of decrees
(a) Parenthetically: that is when »01 72 1Y% "1 saw the na118 and testified to 07 on it (viz. 10:2 XY RNavIN)
IIT 17 mwn: DMOR or MrMY which are 2 different mnY cannot be 97vxn
a  mMoR moINp: e.g. I Ha do not combine, as they are two mnw
i Swpw this is only true for op nrkmv (that 1329 placed on touching amn 5»a — see :3p D'NYY)
1 But: for n99NR, they are q70%n, per v. 3, which establishes a single n” for all wTp that have become Y109
b mwanv pIv and nY1), or nYa) and nnn w1 do not combine to generate even the lighter form of kMY (e.g. 17y NrMV)
IV 27 mwn: combining n/xNY 092X of various levels
a  Combines: food which became &nv from ar (>1wr1) with that which became xnv from 19 (1) are 91020 per lighter one
i Reason: per v (R:R NNV RNAvIN) since a 2w could become a YR
1 Meaning (X¥37): the nwRY caused the »w to become &nv >treated alike
2 Alternate formulation (?wx "3): relative to 'w9w, NWR1 and 1w are alike
V 1 mwn: all foods have common o yw in their respective areas of impact and therefore combine
Y2 019 of wheat loaf: for nkMY of a body that ingests DNV DYIIR
Food of two meals: for pmnn 2171y
A2 for YR NRMY
711 for carrying on naw
710277 N3 for eating on D N9IN DY
VI 1 mwn: n%1y and 0720 83 join for 1YW to ban a mix (must have more than 200x the prohibited food)
a  Dissent: ™ — they do not combine
b Challenge: w" doesn’t require a MW for either (per Xn»11) — no need for Ny
i Answer: indeed, that is what he means — they have no need for q11x
VII 21 mwn: combining different types of fabric/garments for nxmo
a  Combined: 131 (3x3 fingers), sackcloth (4x4 D'nav), leather (5x5 n'nav) and mats (6x6 B'NAY) combine for NRMIV
i Reason (v”): any of them, if made for arn 2wn, would become v71Tn RNV
ii ~ ap277x if he cut less than 3 myaxR of any of these and made them into a T2
1 If:he intended it for 20wn — the 1w is 3 DNaV
2 If:he intended it for 2vn — the MYw is a nav
3 If heintended it for “nrmR” — there is no MYw
(a) Reason(s): used to protect hands of weavers ("R» ") or of fig-pickers (xn»92)
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